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This paper consists of two sections, A and B. Answer ALL the questions in Section A and TWO
questions from Section B. Section A will be collected after the first 30 minutes,

SECTION A
Answer ALL the guestions in this Section.

For items 1 to 20, each stem is followed by four options lettered A to D. Read each item carefully

and cirele the letter of the correct or best option.

1. A solid figure with uniform cross sectional area is called .................

A. cone.

B. pyramid.
C. sphere.
D. prism.

2. A surveyor measures the angle of elevation of the top of a perpendicular building as 19°. He
moves 120m nearer the building and finds that the angle of elevation is now 47° Determine the
height of the building. '

A. 129.68m.
B. 41.32m.
C. 60.85m.
D. 56.74m.

3. A cylinder has diameter of 4cm and height of Scm. what is the volume of the cylinder?
Al 209@11@5\
B. 629 cm’
C. 838 cm’
D. 125.7 em’
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Thelines 2y —kx+2=0and y + x — {g-xo intersect at (1,-2). Find the value of k.
Al
B. 2
C.o-1
D

D. -2

If P(%, 4) is the mid-point of the line segment joining the points Q( —6, 5) and R(—2,3), then the
valueofais .............

A -4

B. -12

C. 12

D. -6

What is the diagonal length of a TV screen whose dimensions are 80cm X 60cm?
A 10cm

B. 100cm

C. 20em

D. 1600cm

Find the ratio in which the point (2, 7) divides the line joining the points (8, 9) and (-7, 4)
A 23

B. 32
C. 12
D 2:1

The length of the minute hand of a clock is 14 cm. Find the area swept by the minute hand in 5
. 22,
minutes.[take n = =1

A. 25.6667cm’

B. 51.3333¢m’

C. 44.0000cm”

D. 88.0000cm?
b
{



10. In the rectangle above, if £LAEB = 80°, then £DAC =

A. 10°
B. 40°
C. 50°
D. 80°

I1.Ifa pole 6m high casts a shadow 243 m long on the ground, then the sun’s elevation is
A. 60°

B, 45°

C. 30°

D. 90¢°

12. The y-axis divides the line segment joining the points (5, ~ 6) and (—1, — 4). Also find the point of
‘ntersection. Find the ratio and point of intersection.

AL 23
B. 3.2
C. 1.5
D. 5:1
13. A circle has equation x? + y? = 81. Which of the following is true about this circle?

8

[ It has its Centre at the origin (0,0).
1. 1t has radius of 9
{11. It has a radius of &1

A. Tl only

B. land lfonly

C. T, and Il only

D. Hlonly

14. Find the value of x in the figure below

A 19
B. 29
C. 53
D 116
15. The angle of a sector of a circle of cadius 6em is 1200, Find the area of the sector in terms of 7.
A. 4mcm?®
B. 8mem?
C. 12mem?
D. 24mem?
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ake 7 =253
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5. 24 em

7. Which of the following is/are regular polygon(s)?

7

AL Tonly
B. |
C

]

[ only
C. land Il only
5. land IV only

i

5y . > 9] .- . .
18. The exterior angle of a regular polygon is 36”. Find its number of sides.
A 10

10

9. Giventhat p=2i-3ja
AL 9 units
B. 16 units
C. 4 units
3. 5 units

o]

dq=1i+3j, what is the magnitude of the vector p + 2qg

v . L . . oy . .
20. A ladder leans against a wall such that it makes an angle of 36" with the wall. If the wall

high, how far away is the foot of the ladder from the wall?
A 036m

B. 36m

C. 46m

D. 3.6m
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